Year 4 Arithmetic Practice Test
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8.58 + 6.15 =

9 x 414
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Answers
1 96 + 10 = 106 gk
2 162 + 20 = 182 gk
3 5 x 0 = 0 Ek
4 63 + 9 = 72 gk
) 3188 = 3488 - 300 gk
6 54 + 45 = 99 Ek
7 9 X 8 x 5 = 360 gk
8 48 = 6 X 8 1|m:ar|k
9 268 + 580 = 848 Ek
10 65 - 23 = 42 Ek
11 621 - 469 = 152 Ek
12 48 + 8 = 6 gk
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Answers
13 12 x 10 = 120 1|m:ar|k
14 7 x 40 = 280 1|m:ar|k
15 72 x 4 = 288 1|m:ar|k
16 % ) 161 - 131 1mDark
17 | 6423 + 1522 = 7945 Ek
18 198 = 9 = 17 1|m:ar|k
19 8.58 + 6.15 = 14.73 1|m:ar|k
20 9 x 414 = 3726 1|m:ar|k
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